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'Hands-On Problems (2)

* The petformance improvements in the latest version of 7 layers
of a new networking protocol was measured separately for each
layer. What is the average improvement per layes? (Hint: the
improvements in the 7 layers wotk in a multplicative way)

Layer i 2 3 4 5 6 7
Improvement (Yo} |18 {13 (11 |8 10 128 |5

P

" Other examples that work in 2 muldiplicative manner:
+ Cache hit/miss ratios over several levels of caches
* Percentage performance improvement between successive versions
* Average error rate per hop on a multi-hop path in a network
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